
Ru (mod 3)

blocks defect matrix

G : 1 3 14× 9
2 0 3781 = χ2, ϕ2

3 = 2 0 3782 = χ3, ϕ3

4 0 7831 = χ5, ϕ5

5 1 3× 2
6 1 3× 2
7 0 270001 = χ11, ϕ12

8 0 270002 = χ12, ϕ13

9 0 270003 = χ13, ϕ14

10 0 274051 = χ14, ϕ15

11 0 438481 = χ17, ϕ19

12 0 438482 = χ18, ϕ20

13 0 438483 = χ19, ϕ21

14 0 712531 = χ24, ϕ23

15 0 814321 = χ27, ϕ24

16 0 982801 = χ30, ϕ26

17 0 982802 = χ31, ϕ27

18 0 1105921 = χ34, ϕ28

19 0 1105922 = χ35, ϕ29

2.G : 20 3 14× 9
21 1 3× 2

22 = 21 1 3× 2
23 0 876961 = χ57, ϕ43

24 0 982803 = χ58, ϕ44

25 = 24 0 982804 = χ59, ϕ45

26 0 2211841 = χ60, ϕ46

27 0 2505601 = χ61, ϕ47



Block 1: ϕ1 ϕ4 ϕ8 ϕ9 ϕ10 ϕ16 ϕ17 ϕ18 ϕ22

11 = χ1 1 . . . . . . . .
4061 = χ4 . 1 . . . . . . .

217501 = χ9 . . 1 1 . . . . .
349441 = χ15 . . . . . . . 1 .
349442 = χ16 . . . . . . . 1 .
455001 = χ20 . 1 . . . . . . 1
527801 = χ21 . . 1 1 . 1 . . .
633361 = χ22 . 1 . . 1 . . . 1
659751 = χ23 1 . . . . 1 . 1 .
754001 = χ25 . . . 1 . 1 1 . .
761251 = χ26 1 . . . . 1 . . 1
1024001 = χ32 . . 1 . 1 1 . . 1
1055601 = χ33 . . 1 1 1 1 . 1 .
1187841 = χ36 . . 1 1 . 1 1 1 .

ϕ1 = 11
ϕ4 = 4061
ϕ8 = 84401
ϕ9 = 133101
ϕ10 = 178361
ϕ16 = 310301
ϕ17 = 310601
ϕ18 = 349441
ϕ22 = 450941

Block 5: ϕ6 ϕ11

32761 = χ6 1 .
204751 = χ8 . 1
237511 = χ10 1 1

ϕ6 = 32761
ϕ11 = 204751

Block 6: ϕ7 ϕ25

36541 = χ7 1 .
913501 = χ28 . 1
950041 = χ29 1 1

ϕ7 = 36541
ϕ25 = 913501



Block 20: ϕ30 ϕ31 ϕ32 ϕ37 ϕ38 ϕ39 ϕ40 ϕ41 ϕ42

281 = χ37 1 . . . . . . . .
282 = χ38 . 1 . . . . . . .

12481 = χ39 . . 1 . . . . . .
12482 = χ40 . . 1 . . . . . .
72801 = χ45 . . 1 1 . . . . .
72802 = χ46 . . 1 . 1 . . . .
81921 = χ49 . . 1 . . 1 . . .
81922 = χ50 . . 1 . . . 1 . .
105561 = χ51 1 . . . . . . 1 .
105562 = χ52 . 1 . . . . . . 1
349443 = χ53 . . . . . 1 1 1 1
389761 = χ54 . . 2 1 1 1 1 1 .
389762 = χ55 . . 2 1 1 1 1 . 1
482561 = χ56 . . 1 1 1 1 1 1 1

ϕ30 = 281
ϕ31 = 282
ϕ32 = 12481
ϕ37 = 60321
ϕ38 = 60322
ϕ39 = 69441
ϕ40 = 69442
ϕ41 = 105281
ϕ42 = 105282

Block 21: ϕ33 ϕ35

32762 = χ41 1 .
40321 = χ43 . 1
73081 = χ47 1 1

ϕ33 = 32762
ϕ35 = 40321

Block 22: ϕ34 ϕ36

32763 = χ42 1 .
40322 = χ44 . 1
73082 = χ48 1 1

ϕ34 = 32763
ϕ36 = 40322


